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5 18| 7 | 24 | 10| 33
9 | @ | ® € | (@]

\r;ﬂ;

(1) 54 2) 72 (3) 16 (4) 60

What will come in place of (e) ?

5 | 18| 7 | 24| 10] 33
9 | @ | ® [() | (@]

(1) 54 2) 72 (3) 16 (4) 60

2. ﬁﬁmmmaﬂmﬁtﬁﬁammwwammzaﬁmm. I AT
S 30 FuTeT S T T e 9 fedT $THe ?

(1) 48 Ly 58 (3) 68 4) 17

John's age becomes half that of his brother’s age if we simply add 2 years to his brother’s present
age. If John is 30 years old today then what will be the age of his brother ?

(1) 48 (2) 58 (3) 68 4) 17

3. manWﬁ,-Pamm@ﬁmmwamélWWm AR, P W HE
ferelt et @t 2

boys are there between P and W?

(1) 15 2) 16 3) 17 (4) 20
4, aE fedren duiiym e HeTe e W

p_qi.r_pqq_qrp_

(1) pqqqp (2) prrqp AB) rrrqr (4) rqqpr

Find the missing letters from the following given sequence.

p_qr_r_pqq_qrp-

(1) pgqqp (2) prrqp (3) rrrqr (4) rqqpr
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5. ARCH 9Ed A1ed MM D 7 B =1 Yorm oM. E @l A ¥ WIS 3T, S C @ D =t 7@ E WB Y |
¥ 2

(1) Herit (2) Wt B (4) wEI
A is father of C and D is son of B. E is brother of A. If C is sister of D, how is B related to E ?
(1) Daughter (2) Husband (3) Brother-in-law (4) Sister

6. R (A+B)TRUS AT B WS 3E; (A—B) BN AT B =} @1 o7TE; (A x B) U A € B Uil e,
37T (A + B) U A ¥ B FSial 31eq, =7 EreierE For g, ‘O 7 L= qer e’ g SRifer ?

:S.» (1) LXxM+N+O-P (2) L+M+O-N=+P
5N LxM+N-P+0O 4 LxM+N-O+P
= &

A x B) means A is wife of B; anc

. If (A+B)means Ais brother of B; (A —B) means A is sister of B; (
‘Oissonof L' ?

(A +B) means A is father of B, then which of the following option indicates,

(1) LxM+N+O-P (2) L+M+O-N=+P
(3) LxM+N-P+O (4) . LxM+N-O+P

7. Wm&ﬁaﬁﬁﬁmaﬁa:soaﬁéﬁaﬁﬁmmaﬁmﬁﬁm?
@) 6:30 (2) 530 (3)- #1280 (4) 3:30
By looking in a mirror, a clock shows 6 : 30 then what is the real time in the clock ?
(1) 6:30 (2) 5:30 (3) 12:30 4) 3:30

8. @Eie Sl SuiETel e, SUSH auiAreTdleT S7ari= T Hevid Ueh faftre ehfaey TR Hidd. 7
mwm,m@ﬁmmmmwmagm

uy zZvy (2) QNR (3) RPS (4) 4RI RN

The fOHOjNing groups of alphabets form a certain pattern with regard to their position in the English
alpha}aehc series. Based up on the pattern, which of the following alternative should replace the
question mark ?

HDG; N] MJ' Tl)s; .._Z.__-
(1) % ZVY (2) QNR (3) RPS (4) None of these
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9. AT HIBSIYh T HEA, Wieer Feai=t Iat &l

() o w9 S e enfn st e freneaten we wat i v o ?

(b) I U T, Wesa 3wl e faeneafs quadt gedn ot et ?

(c) THH Hewed faeneff fordt Jaar A9 Helel e 2

350
250 3
200 Sl
0 =/ bt . 2] £
7015-16 2016-17 2017-18 2018-19 2019-20

ﬂ'ﬂfd:l"a?ﬁ‘:
) 2015-16, 90, =X (2) 2016-17, 70, 914

(3) 2017-18, 90, T (4) 2015-16, 90, T
Examine the graph carefully, answer the following questions.

(a) Which year has th
those who failed ?

(b) In the last five years,
() How many times have the same number of students failed ?

350

300 F @ Pass -
e i Fail J
150
100

50

]

-
1=
PR
Sarddl
T
'
e
T i
ke
o
- Y
| o 2

- | : 55
0551546 2016-17 2017-18 2018-19 2019-20

Answer options :
(1) 2015-16, 90, Four (2) 2016-17, 70, Five

(3) 201 7-18, 90, Five (4) 2015-16, 90, Three

e smallest difference between the number of students who passed and

what was the average number of students who failed in school.
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10. mZOﬁamﬁlﬂlmd\lmﬁ[ﬁaﬁE@'ma%qﬁa :
T A TEwS g g 15 W e w1 A IR s gl | 15 T = < AT, T

T o i | et et T me 7
2) 30 e 4

(4) 45 HIX T |
Then he turns right an

rns right and walks 30 metres. :
d walks 15 metres, then he turns left again 'a_nd wall
y metres away is he from his original position ?

north then he tu

he turns left an
tion and how marn

Aadit walks 20 metres
walks 35 metres, then

15 metres. In which direc
‘ (’]_) 15 metres West (2) 30 metres East
(3) 30 metres West (4) . 45 metres East
11. q‘gaﬂtrgm?ﬂa?wmgamﬁaaﬁqﬁqaaﬁ%mm@wﬁﬁ?
(1) 3« @Y TR (3) STl (4) | ga‘fﬁ_
Where was the United Nations 97th World Climate Change conference held 7
(1) Egypt (2) Russia (3) Germany (4) Italy
12 ‘G dE I d awamqﬁmnaﬁtsﬁzozsﬂsﬁ@ﬁmﬂﬂﬁwﬁﬁa@aﬁﬁ 3TTe ?
(1) s & qY (2) T T
(3) fefa T (4) U fgm =
Who among the following has been olected on the important post of President of the World Ban
Group’ orr 3rd May 2023 ?
(1) Taranjit Singh Sandhu (2) Raghuram Rajan
(3) Urjit Patel (4) Ajaypal Singh Banga
13. mmummwwmAK-zosmmmﬁﬁﬁﬁm 3R ?
- (1) SOH (2) IRmE 3) FIWT (4) wrd
~ Korwa ordnance factory i manufacturing AK-203 assault rifles in a joint venture with whic
country ?
(1) Japan (2) Russia (3) USA (4) France
14. - B
o 20”Mmmmmmfmﬁmwﬂmm7
1) &AIEH
(3) (2) 3TY T
z(‘\:nb ti Thiru ) I
a I thi .
state 7 pathi Rayudu, who announced retirement from cricket in 2023 belongs to whicl
(1) Karnataka
: 2) Andhra Pradesh
(3) Tamil Nad ( a I'rades
| S (4) Kerala
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5, Wiﬁﬁ@wm e T ST ¢ W (ATP) JOICH STHC ST 3.
- R i Rt e R e
(1) = (2) SR

(3) WK & (4) STRELTH.. |

Indian Railway has introduced Automatic Train Protection (ATP) system called ‘Kavach’ for
enhancing safety. Who has developed this technology ?
(1). ISRO | (2) DRDO
(3) Indian Railway (4) " RDSO

16. mmmmmmmmmmmmaﬁa |

(1) <Hae (2) W (3) = - L(4)  FAd

Which country has become the first country in the world to mandate mandatory health warnings
on individual cigarettes ? v e g 41 _ - s

(1) Canada (2) Russia ' (3) Italy .. (4 Kuwait

17. S HI0W HYE/A A TG 2
(a) ‘I e B HISAT SR el
(b) m,@ﬁ'@,m,w,ﬁm@ﬁm%%mmmaﬁ%wmw. |
(O s e fade ST Y R ‘e e = gel v e el .

(d) =T SREEEIE! 7 Sl HRAr A SR,

VR ' 1

1) (@), () @ @ W (@) (0 3
@) (@), (b) A0 ) @ o=

... Which of the following statement/statements is/are not false:

(a) NATO plus is an organizations created by America.
(b) Australia, Newzealand, Israel, Japan, South Korea these countries are members of this

organisation.
(c) A select committee of the US congress has recommended that India be granted NATO plus

status.
(d) India needs this status to encircle China.
~ Answer options :
(1) Only (a), (b) and (¢ (2) Only (), (¢) and (d)
(3) Only (a), (b) and (d) (4) All the above

e =
P o

3 ...t.-..-h""'*f. &
3 1

~2 M il
P.T.0.

| mm/smﬁrrﬂt‘“* .
' fioy E:-“_'f"'t"-"g' ,“‘ 4=t
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18. ' 3R 3NfY Fga HeAl HAHE ' YR HIhR FiA1hg Tafcedl Sid ST ST’ IS (ABHA &Zﬂfd)
B HTAHH EIeiciyehl IV SUHHTET YT 3718 ?
(1) STIEHH YRd e e (2) STYEMM 9Rd fesiiea A
(3) STIEHAM ¥RA Tl Hisd (4) 3rdfees v festteat M

The ABHA-Card programme implemented by the Ministry of Healt

Government of India is a part of which of the following scheme 7 |
harat Digital Mission}

h and Family Welfare,

(1) Ayushman Bharat Data Mission (2) Ayushman B oy
(3) Ayushman Bharat Data Model (4) Ayurvedic Bharat Digital Mission .
19. mmmumsﬁﬁmﬁwmﬁwww
(@) W wRew () ReEwfEEn o (© SR (@ =TETE
Tt S
(c) 37T (d)

O @ImE @ @Ime @ OT@ (4)
Which company launched the first 5G Service in telecom sector in India ?
(a) Bharti Airtel  (b) Reliance Jio (c) Idea (d)

An options :
(1) SW'(E:) and (b) (2) (a)and (c) (3) (b)and (d) (4) (c)and (d)

BSNL

20. AT F Fo/ R SR e 7
(a) mmwwmmﬁwwmﬂﬁmﬁm

(b) ﬁ@@?ﬂn@%@ﬁwmaﬁ
(c) 21 .15 FE FrEs g STer Sk,
(d) wﬂa%%méamwéwaaﬂawmmw%a

wafdt 3 :
(1) o (a) (2) e (b) ST ()
(3) e, (c) ST (d) | (4) T (d)

Which of the following statement/statements is/are not correct ?

(a) INS Mormugao has been designed by the Warship Design Bureau of th
(b) Itis a stealth guided missile destroyer.

(c) Itis the second ship of the P-15 Bravo project.

(d) 90% of these parts are made in our country.

Answer options :

(1) Only (a) (2) Only (b) and (c)

(3) Only (c) and (d) (4) Only (d)

e Indian Navy.
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e T e st e TR R Rt SR, R e T @ € 540,000 3T,
WEEA AESES! eren T fohd ? ' '

8

(3) T 65,000 (4) 70,000

on various items while constructing a buﬂdﬁig. The
T 5,40,000. ‘'What is expenditure on steel ?

(1) % 67,500 (2) T 72,000

Following Pie diagram shows expendituré
total expenditure of building construction is

Bricks

(1) % 67,500 (2) ¥ 72,000 (3) % 65,000 (4) Z 70,000

T TG HST SOOI 82%, Tewl SOOI 76 % Tireh ST Qreat HTHT STUIR 2244 ek 3Ted, W) 1 e
Sl |1 7 UV 8% TR STHcitel aX o1 el SlehaeAl fehel 7

(1) 2200 (2) 3200 () 3400 (4) 3500

In a vi%lage 821% I?eople know Marathi, 76% people know Hindi and 2244 people know both
Marathi and Hindi. If there are 8% people in that village who don’t know both languages, then

what is population of that village ?
(2) 3200 | (3) 3400 (4) 3500

22,

(1) 2200

E‘
i
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. Qe TR 1 T O 9eiE! Ysi aeiR de Tt aRara el 3. ferorean o™
& 80 TR hIUAl TG 38 ?

A
- 15
~ 1125
VT |s 7.5

S 3

+ 2 1.5 1 :

- —>
0 19 20 30 40 50 60 70 80 90 100
_ 40
(1) 20 - 30 (2) 10 - 20 (3) 40 -50 4) 30

The following is a histogram showing the actual frequency of the closing ﬂ;:rices on Ehe .stock exchange
of a particular stock. From the histogram, the class containing the 80" percentile 1s :

A
el 15
12,5
M o[58 7.5
5-...
3
2 1.5 1
0 —
10 20 30 40 50 60 70 80 90 100
\ .
.-.1 (1) 20 - 30 (2) 10 - 20 (3) 40 - 50 (4) 30 - 40
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2D
A = e €0 X 615”(‘66"?@ s
%° <0 + 60 *
80-}----=c-~--—""""°7° 1 . 53] Fifrd yo xéo v 80
I 7 70 o 0 ; £ 230
e | L__¢o| |-¢ sol___ e oge 5049 2
= A0| 33 =HEN=H R e
L 50"‘_’;"_ et 8 "ﬂ:: "“:-*-"::\(0
" = i o] s P
s+ - B B | B
30 3¢ —:: =i —::
e b e b e (il :_":no
204 Ee¢ = == =
] ® 9 e [ — 10 o —o o
104 EF:3 — o =k =l
.Q:: .-"'""":: e __.:,—luu >
0 reufq  wmdfl2  STEO-3 =T=vil-4
greft Hfere —>
Tt SR A e 37 ?
(1) Wmﬁﬁmﬁu@aaﬁaﬂ@mwmﬁaﬁﬁ
2) Wﬁmﬁm@t@aﬁmﬁmﬁwﬁaﬁﬁ
(3) wﬁmﬂmﬁmat@%ﬁmﬂﬁmwaﬂﬁaﬁﬁ
5718 wﬁmﬁ?ﬂﬁma@maﬂﬁlﬁﬁﬁmﬂmwﬂqw-
The bar graph shows the marks obtained by Rahul, Nikita and‘Vikas in test series.
%, — Vikas
go-pem=mss ETT U R E 28] Nikita
il I H=
Y - L
$ 0T [ = BT B
LBl B TEE [ B
S0+ B | B HER=t
204 =i | Hi R =
10- i ;s 8 WS
0 - 00 o0 L 20 )_
Test-1 Test-2 Test-3 Test-4
Test series —>
Which of the following statement is correct ?
(1) Nikita scored more marks than Rahul and Vikas in overall test series.
(2) Vikas scored less marks’/than Nikita and Rahul in overall test series.
(3) Nikita and Rahul scored more marks than Vikas in the test series.
(4) Nikita and Rahul both scored less marks than Vikas in overall test series.

2] BTHTETS! IR / SPACE FOR ROUGH WORK . P.T.O.
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25, RAP-4b-1=04 | (2b)b =7

1) 25 (2) 255 (3) 125 (4) 503
If 42—4b=1=24 then (2b)b=?

(1) 25 (2) 255 (3) 125 (4) 55

26. XA 30%=025, B = %,am:a:c=?

(1) 15:12:10 (2) 12:15:10 (3) 10:12:15 (4) 10:15:12

If 30% of A=0.25, B= %, then A:B:C=?

(1) 15:12:10 (2) 12:15:10 (3) 10:12:15 (4) 10:15:12

27. HEE! A 60 T, wft o9 SR ured @ Hermel B 75 fE ufd 919 ama urad. Sl e T

i uETm. JRERTE A @ 9ermEt B = 60 R IR oM. o TRRmE! B @ Werme A gdd
Ure=vae T 9% T ?

(1) 15 ¥ (2) 47 (3) 27@ (4) 4.5 T

Car A travels at a speed 60 kmph and Car B travels at a speed of 75 kmph. Both cars are travelling

in the same direction. Car A is 60 km ahead of Car B. How much 4 il i
reach at Caf A ? ch time will it take for Car B to

(1) 15 hrs (2) 4 hrs (3) 2 hrs (4) 4.5 hrs

28. Trear. _(3:07)° +(0.0193)°
(0.307) + (0.00193)2

(1) 100 2) 1 3) 10 n ._1_
100
Solve : _(3:07)° + (0.0193)2 )
o (0.307)% + (0.00193)? - Ll
(1) 100 2 1 (3) 10 @

\ _
55— o 25 1ne
o] TS Srme'e s B
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A ? |
(1) 50 (2) 66 3 75 (4) 125 |

A shopkeeper buys 15 mangoes for Rs. 10 and he sells 10 mangoes for Rs. 15. What is percentage

profit of shopkeeper ?

(1) 50 (2) 66 3) 75 (4) 125

1
30. SRx>03U X+ — =55 aﬁamﬁ+%=?
X

1) 55 2) 75 3) -+75 4 -+55

1
1fx>0andx+—=5-5,then\/;+i=?
Jx

- &

(1) <55 2 75 @) -+75 4 -55

31. 4% UF FM 8 feagia qul seam, o= M 8 w1 16 feawid .
b ? g SRdr. & 1 4 I8N F 4 T el

2 : 1 :
(1) 37 feaw (2) 37 feaw (3) 5%1"33@11’3 (4) 6%ﬁa'qfa

4 men complete a work in 8 days and same work 8 w i
omen complete in 16 days. Then in h
many days 4 men and 4 women will complete the same work ? ’ S

2
(1) 3= days @) 3=days: (3 5-d -
5 3 g ays (4) 6% days

(3 Scanned with OKEN Scanner
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32. %WWABCDHWWWW. Fdoerdl URE 2m/x 3. i@mmﬁmm
/ . YT

g
'Il‘ *

1) 2x (2) mx—=2x 3) mx-— 2\/; | (4) =

In the diagram below ABCD is a Sciuafe inscribed in a ci‘.rcle with ¢ircumference 2mJx . What is
the area of the shaded region in the diagram ? .

(1) 2x
(2) mx-2x o)

— -

| e TS ST / SPACE FOR ROUGH WoRk
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33. W@mm sfufrm 2015 Wit TAEITaR SiTe &l :
b RALG
(@) HEH7 (i) ﬁaawﬁﬁﬁmmﬁwﬁmmﬂm
(b) e 10 (i) TR T Qe g Nt S H
(o w13 (i) e v Tt T S
y (d) wHeH 20 (iv) St

ot S

(1) (a)-(), (b)-(id)- (0)-(iv), (d)-() -

2)  (a)-(i), (b)) (©)-0) (d)-(iv)
(3) (a)-(i), B)-v), ()-(i), (d)-(id)

@ (@), b)), ©-), @-0)
Match the following as per the provisions under the Maharashtra Right to Public Services Act, 2015

Section Provision

(a) Section 7 (i) h]?;;fflopmg culture to deliver Public Services within stipulated time
(b) Section 10 (i) Constitution of Maharashtra State Right to Service Commission.

(c) Section 13 Gii) Use of Information technology for delivery of Public Services. ‘

(d) Section 20 (iv) Penalty

Answer options :

(1) (a)-(), (b)), (©)-(v), (d)-1)

2) ()i, (b)-G), ©-6) (@)-()

(3)  (a)-(ii), (b)-(v). ()-()- (d)-(ii)

4)  (a)-(ii), (b)-(iv), (©)-(1). (d)-(3)

5 1PTO:

. <o TS ST / SPACE FOR ROUGH WORK
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AR ARSI SR T Th hehe BPAVIVS B TE TG IRV AU (A By A TRRRS TS TR TEETHS

e | RS
(a) e 4 () foafem veEona Afedt QoA AR JUATET R
(b) eEH7 (i) T ifedt TR Hfed
() HEH9 (i) eI WfeEROTede T
(d) <hem 15 (iv) foridien ort frekremma @0
T S - '

) (@)-Giv), (b)-(i), (©)-(), (d)-(i)
@ (@)-v), 0)-(), (O-Gi), (d)-(i)

B)  (@)-{ii), (b)-iv), (), (d)-{i)

@ (a)-(i), ©)-(), (©-v), (d)-Gi) ,

Match the following as per the provisions of the Right to Information Act, 2005.

Section Provision |
(@) Section 4 (i) Grounds for rejection to access Information in certain cases.
(b) Section 7 (ii) Constitution of State Information Commission
() Section 9 (iii) Obligations of public authorities
(d) Section 15 (iv) Disposal of request ,

Answer options : |

1) (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
2)  @)-Gv), (b)-(i), (c)-(ii), (d)-(iii)
®)  (a)-(ii), (b)-(iv), (c)-(i), (d)-(ii)
@ (@i, B)-), (©)-(iv), (d)-Gi

35. @iie faum foarm =50 ;
:::(1): A= SAfHHR A, 2005 I Tel AR AT SUHR Yo S@
(I) : AYFHRT 1, , Al FI‘TIIHU??HEII~
e ﬁmqﬁaﬁw: EICEEAE T SYHR a1 e,
(1) Taum (1) sReR o, (1) o
(2) Taum () =@eR s, (1 I
(3) = U™ SR e,
(4) = faum 3= oy,
Consider the following statements -

g:atement (I) : The RTI Act, 2005, extends the ri
| atement (II) : The right to information includ

records. es the right to inspection of work, documents

Choose the correct option :;
(1) Statement (1) is correct
(2) Statement (1) is correcft
(3) Both the Statements are
(4) Both the Statements are

(IT) incorrect
(I) incorrect
correct

INncorrect

Feeq) l
A1 PTNTS! WM / SPACE FOR ROuUGH WORK
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3. M T EIEIeries! HivR Sre RAt T e ey e o -
@) S CRECE! |
(c) eTT=sT 27

(d) =T 28

gt 39T ;
(1) &K (0), (d), (a) (2) W (a), (b)
(3) W (b), (c), (d) (4) o T

Which of the following articles of the constitution of India reveal the secular character of the

Indian State ?
(a) Article 44 (b) Article 30

(c) Article 27 (d) Article 28
Answer options :

(1) Only (@) (). @) 2 ol -
(3) Only (b). (©) (d) (4) All of the above
7 Sire @ - (Eaym e A
| ‘A’ ( |fet ) Brﬁ( 37eeT )
(a) AT aee afird G) Sl FIar
(b) Fa e wi i) 30 NEH
(c) TEHE e aeel aftd (i) TH. azzraTﬁ
(d)  TEA SRR ERLIEEGI] (iv) oI T8 FHe
gaidt I
4)  (a)-(ii), (b)-(i), (€)-(v). (d)-(3)
(2)  (a)-(i), (b)-(ii), ()-0) (d)-(iv)
(3)  (a)-(i), (b)-(0). (c)-(ii) (d)-(iv)
(4)  (a)-(i), (b)-iv). (©)-(Ed) (d)-(3) |
Match the pairs - (Committee of the Constituent As:sei:nbly) :
‘A’ (Committce) _ B (Clra;rm’an)
(a) Ad hoc Committee on citizenship (1) J.B. Krip ;ﬂ;
(b) Press Gallery Commuittee (11) Usha Na £
(c) Ad hoc Comimittee on National Flag (iii) S Varc'iachan
(d) Fundamental Rights Sub-Committee (iv) Dr. Rajegdra Prasad
Answer options : | ‘
Q) (@G, o)) @) G0
) (@), B @0 @
@) (@), o6 @ @
W (@), o) @6 @0
Eﬁn HraTaTd) Wi / SPACE FOR ROUGH WORK . "P:T.'b_
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Under which article of the constitution can the Central Government give directions to the State
Governments ? '

(1) Article 370 (2) Article 356 (3) Article 256 (4)  Article 263

39.

TreATade! SIv STEt A e e ?

(1) eﬂﬁk—l@'-ﬁ@ﬁﬂﬁﬁh&

(2) SRR - 163 - WA Tofae

(3) aﬁzq&—wﬁfﬁﬁw@_ |

(4) SATT - 166 - qumm HRERT

Which of the following is not matched correctly ?

(1) Article - 167 - Duties of Chief Minister

(2) Article - 163 - Swearing in of the Chief Mirister
(3) Article - 164 - Provisions related to State Ministers
(4) Article - 166 - Operations by State Government

40.

(2) Parliament has

weter farem s o s fawm e -

(1) HEE YRar= gyvi awmﬁw'mm, 313,?33'-'245.
2 =

) - 246.

(3 Scanned with OKEN Scanner
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1, -@.ﬁ'ﬂm W qra.
PIEIGIL|
() TR 43 Waﬁﬁmmﬁmmaﬂm A
(c) oTT=T 48 (b) T3z 47 sl
it e (d) o13=8% 39 A
(1) & (a), (b), ()
(8) T (a), (b) (d) 2) 7 (0) (0, @
Which of th_e follt;wing articles of '(4)' el (ﬂ),- (C)r (d)
(a) Art"icle 43 CONShg)honAifﬁi?:1z7ﬂre based on Gandhian Idealoéy ?
521 BWArtn‘:le 48 ) Article 39 A
er options :
(1) Only (a), (b), (c) N Ol |
Bowlee @ weel
TS T

o Vgt WY G WIRaTeT 6, Tt FeTETE RO B HRoarer St YA TAER
e TTER . ! W W sREer o w Fea He /

26 Arsgsk 1950 (2) 26 TR 1949

(1)

(3) 26 STHART 1948 (4) 22 STHERT 1947 -

#This constituent Assembly declares its firm and solemn resolve to proclaim India as an Independent
onstitution”. When was this

sovereign Republic and to draw up for the future governance & c
objectives resolution passed by the Constituent Assembly ?
(2) 26 November, 1949

(1) 26 November, 1950 | T
(3) 26 January, 1948 (4) 22 Ianuary, 1947
. ' 3BT : .

(b)
e get e, 2002
it (2) i (b)
(1) (@)
3 @F®) (@) e T
nt/s about fundamental duties
Swaran Singh Committee to make

damen
(b) ﬂTf‘ee :;: of six and fourteen years was adde

2002.
Answer options : (2) Onl
y (b)
(1) Boédﬂ'): (E:;) nd (b) | (4) None of the above
o i A IR

e

ez TS O / SPACE FOR ROUGH WORK
} ¢ 5 e P.T.O.
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44.

20

(1) NG SR - sz 23 3 24
2 ﬁmmaﬁw*aﬁﬁszﬁss
() D TR AT - s 19 3 22

. g pair is not correctly matched ?
(1) Right against exploitation - Article 23 to 24

(2) Right to constitutional remedjes - Article 32 to 35
(3) Right to Freedom of religion - Article 19 to 22

(4) Cultural and educational Rights - Article 29 to 30

45.

(c) STIYfea S feaqwsiar Giem
(d) STIYfea S feagsam g
TIidr S9N

1) @b @2 () ®) ®) (@) () s (g)
Which of the following elements are protected in Article 29 of the constitution of India ?
(a) Protection of interests of Minorities

(b) Protection of the interests of Women

(c) Protection of interests of Scheduled Castes

(d) Protection of interests of Scheduled Tribes

Answer options :
(1) (a) and (b) (2) (a) 3 ® (4) (c) and (d)

46.

T fafufaugs ifuer e -
(a) TF fafurgzme oo Q0 (b) faum | faufsia w0
(c) STEARY SR (d) WEHSS sERG 0]

Til't'ﬂ?-ﬁ' I ;
(1) % (a), (b), (o) (2) % (b), (o), (d)
(3) & (a), (c), (d) (4) W (a), (b), (d)

Governor has legislative power :
To address the State Legislature (b) To dissolve the Vidhan Sabha

a . .
EC)) To promulgate the ordinances  (d) To dismiss the cabinet
Answer options :

> (2)  Only (b), (c), (d)

Only (a), (b), ()
g; Onli; 8, (), (d) (4) Only (a), (b), (d)

HAl

TSl T / SPACE FOR ROUGH WORK

5
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47.  HRATEAT FHH 2001 q@mmmwwwwwwmmwﬁ
e ?

(1) 2021 (2) 2026 (3) 2031 (4) 2036

Parliament of India in 2001 has enacted a law and made provision till which year the constituencies

will not be reconstituted ? |
(1) 2021 (2) 2026 (3) 2031 (4) 2036

18. ﬁ%’lmwﬁmmﬁm@mﬁﬁqwqwﬂa%mﬁﬁmmmﬁmm

(1) {99 ey (2) WRAr T

(3) THHEW LAY (4) HRAT™ GEHENE

When there are differences between Lok Sabha and Rajya Sabha over a bill, then who calls the
joint session of Parliament ?

(1) Chairman of Rajya Sabha (2) President of India
(3) Speaker of Lok Sabha (4) Chief Justice of India
9. gl FgEiTeTed WiaH™ G4 @eiierdeht shiviedl Hisersl TR el 2
(1) ST Hied (2) e Hisd
(3) SiefeaT dAiea (4) A TR
Which of the following model was accepted by Constituent Assembly for appointment of Governor ?
(1) American Model (2) Canadian Model
(3) Australian Model (4) German Model

T FIU e Shemld Rd WU ' YR Uil 99 38’ 3161 Seorg o7 ?
(1) 3% - 1 (2) ¥FHI-2  (3) TP -3 4) 3T - 4

In which article of the constitution is it mentioned that India means ‘India will be a Union of

States” ?
(1) Article -1 (2)

et SR T S Siiear e ?
(1) T (2) QS A

(3) TEEIYS G (4) I AN
‘Satyamev Jayate’ was the Motto of which organisa‘ﬁo? ?

(1) Paramahansa Sabha (2) Sarvajanik Sabh:a
(3) Satyashodhak Samaj (4) Prarthana Samaj

————

. K R ;
Enmrmé’lm/smc; FOR ROUGH WOR P.T.0.

Article - 2 (3) Article-3 (4) Article - 4

-._..___!
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52. TGv=rT PRI e shevamardt ettertent SOt ot ST g g ?

(a) THRT (b) TRTERER
(c) Wy (d) |t
it SN
(1) () 30 (b) W (2) (b) 3 (c) Fer
3) (c) eTf (d) = (4) =@ Fd T 3
Which of the following Newspapers were used to propagate by the Christian Missionéry ?
(a) Dyanodaya ; (b) Tarprasarak |
(c) Prabhodaya" (d) Sayandeepika =~
Answer options : e I PO L TR
(1) (a) and (b) only (2) ()and (c)only . . . .
(3) (c) and (d) only (4) all the above correct
53 mmm@aamummwmmmmam
(1) formes S (2) forey mover fifmes
(3) T v T 4) fa.3. g

Which of the following revolutionaries propagated the armed revolution at Pune as the activist of
‘Gadar Party’ ?

(1) Vinayak Deshpande (2) Vishnu Ganesh Pingle
(3) Shivaram Hari Rajaguru (4) V.D. Sawarkar

54, VAl TASNTTA! WICHETIH! IV YT ST 3R ?
(a) FORE WAH I ey guTET YeEie TR wiEe.
(b) TETwrE SaeHt g oo gUTR § aeae TEs B, |
(c) U ofiet et uRwee oreaey forger oeft AR B, |
(d) WM TR WA Aaeaid HEe . ad
qaidt S |
(1) (a) 3 (b) (2) (a), (b) =M (c)
(3) (a) (b), (c) =¥ (d) (4) (a) 37fT (d)
Which of the following statements are true regarding the peasant movement ?

(a) Krishnarao Bhalekar placed the problems of farmers through ‘Deen Bandhu’ newspaper.
Dinkarrao Javalkar’s newspaper ‘Tej’ was the mouthpiece of the farmers.

(c) Vitthal Ramaji Shinde was the president of the Farmers conference in Pune.
(d) Sane Guruji united the farmers in Khandesh,.

tions :
a?sw; Zic;o(b) (2) (a), (b) and (c)

G @@®@m@ @ @adqg ey ¥ -

ROUGH WORK
s rTS) Wi / SPACE FOR
oozl _
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et shyy -
(1) ammg:;mﬂ T WA 1 a7 2
() TR v (2)  =EwrE it
Who among the fOUOWing N (4) W' S Fel

as the Second Brahaspati ?
ng Tarkhadkar (2) y

(3) Krishnashasty; Chiplunkqy Balshastri Jambhekar

B (4) Mahatma Jyotirao Phule

()  Firing should be done to break up the assembly.

(b) A Military March should be taken from th
power behind the government laws.

() If the Seditious Meeting Act is implemented by

any government the viceroy Government wil]
sanction it.

(d) The Military should be used extensively to reassure law-abiding citizens and assist the police
force.

Answer options :

V) ®), @ @ (@) b ® @ @ @ ®)© @

-'""I-.__

3. 1896 we fordter Wt fegearTe S RO HOAE R TR Ao ey oy

A e 2 ? ,
(1) et s B B
®) e whE ()"

itish Government with the collaboration of Dadabhaj

2) Wavell Commission

(1) Welby Commission 4) Federal Commission

(3) Rowlatt Commission

B——_

?tn

i

Gl.l K I . l-o
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58. I 3T Wyl g iy favaien SaR! @9 ¥, onfr o fayar=n fdar 1y
qied g, |
(1) HeeH Fad 2) wifeseE Fa
(3) THEE S

(4) 9. HEHl HiSl h¥E Fd

devoted his/her life for the upliftment of Hindu Widow and became the secretary
the widow remarriage association.

(1) Mahatma Phule (2) Savitribai Phule

(3) Ramabai Ambedkar (4) Prof. Maharshi Dhondo Keshav Karve

59. 3.4 1937?{1944ﬁammaﬂiaﬁm@ﬁﬂaﬁﬁwmﬁﬁ% 311?1&7@?[?

(1) S g | (2) W HAfEsss =|3°r
(3) I TSER (4)

fa.q1. grEEs

Who among the following was the president of the ‘Hindu Mahasabha’ for seven consecutiv
years from 1937 to 1944 ? |

(1) Dr. B.S. Munje (2) Sir, Mahindrachandra Nandi

(3) Dr. Hedgewar (4) V.D. Savarkar

60. .. 1897 =1 WTSAT W HIVR FIR A 5 TS ?
(1) A TR A= dEs
) A ez i
(3) LA S
(4) A T HIOMEHR

Which labour leader died in the plague of 1897 ?
(1) Shri Narayan Meghaji Lokhande

(2) Shri Raméhandra Shinde

(3) N.M. Joshi

(4) Shri Raghu Korgaonkar

=] HTATETS! ST / SPACE FOR ROUGH WORK

S . &
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1. @Fﬁﬂﬁmﬁmm:

25 A

“ WWHWWWWWWWW WTTTTEAT ShIhVT 318 FEUTdel,

(b) FELTSN IR 7 s o
FFTRIE TR 2t TR WA reciedn TRl gefaren T&sT/ yor dH0 Hishol

() I TFRIESR 2feroirer it 700 firet, e e o,
(d) IR e d% 30000 < f . dam ST o

SR I U/ faum atvew o/ amq ?
(1) (a) ®ed 2 (a) ¥ (b) FH
(3) (a), (b) =M (c) 4) Fia gd

Consider the following statements :

(a) Konkan is a long stretch of lowland that lies between the Sahyadri mountain and the Arabian
Sea.

(b) The Konkan coast was formed by the fault of Sahyadri mountain in the West of Maharashtra
and adjacent to the Arabian Sea.

() The South-north length of Konkan coastline is more than 700 kms.
(d) The geographical area of Konkan is more than 30000 km?.

Which of the statement/s given above is/are correct ?

1) (a) only @) (@) and (b) only
3) (a), (b) and (c) (4) All of the above
Weltertient weRTeT=T HIore foreaid MaerTs Tehedid T 36 ?
@) 3y (p) S () FIRR (d) dfis
TR S
D) v (q) @ @ame @) @@ ) ()
Savilgad hills are located in which of the following district/s of Maharashtra ?
) Thane (b) Amaravati (c) Kolhapur (d) Beed
Ans“"el' options

' Only (q) 2 (@ and (b) (3) (c)and (d) (4) Only (b)

P.T.O.
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03, WEErEN Y Sarmn wm o T S S 2
(1) =mesren (2) I (3) HE (4)
By which name is the part of the eastern slope of Sahyadri known as ?
(1) Ghatmatha (2)

Konkan (3) Maval

H{gdlel

(4) Marathwada

264, RIS =T 9 SV W B ?

(1) 3TS@1 Sw (2)- iR Te
(3) St SR (4) HEYST YeId T

In which area does “Shivana’ river originate ?

(1) Ajanta Hills (2) Bhor gad

(3) Vani Hills (4) Satpuda Mountain range
65.

(1) = 1986 2) ¥ 1972

RN TATET TV FHTA] TRATA TSI B0 T YR F0Te a7 2

(3) #1986 (4) X 1986

In which year was the Environment Protection Act of India published in the Gazette of India ?
(1) |

March 1986 (2) May 1972 (3)

May 1986 (4)

November 1986

66. A WK oieh ST Ufeel TA SHIEAT STAVRI IV ST HT0aTd SIe ?
(1) ¥r= 1974 (2) W= 1967 (3) == 1999

(4) =¥ 1975

~ In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?

(1) March 1974 (2) March 1967 (3) March 1999

(4) March 1975

67. SIITae SR "o (WHO) 7 ietieideht shiv! Faferer TR were fasfaa et a2

(a) g T S A0 FH HES (FAO) |
(b) —TETEO S HAE (MOEF)

(c) STRIY JAE feie gfAfmafess (HELI)

(d) sfaes feet dads geen (IUCN)

gt 39 : .
(1) e (b) (2) (a) S (b) (3) TH (c)
fi 4 Which of the following environmental health organizations has been develo

Health Organization WHO) 7~ |

Food and Agriculture Organization of the United Nations (FAO)
(a) The Ministry Of Environment and Forest (MOEF)
(b) Health Environment Link Initiative (HELI)
(:-1) - ternational Union for Conservation of Nature (IUCN)
5&1)15wer options °

Only () (2) (a) and (b) (3) Only (q)
(1)

4) 0w SR

ped by the World

(4) all are corfect
 GPACE FOR ROUGH WORK —
I

L
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- (3) 1,550,000 TET

In 2016 the State of Sikkim deg]
certified as organic farm ?

(1)  1,80,000 acres (2) 1,70,000 acres
(3) 1,50,000 acres (4) 1’90’000 acres

(2)  1,70,000 Tz
(4) 1,90,000 wHT

ared as the first 100% organic State in India. How much land is

69. WWWWWWTWW,ﬁ,a@m%WW,WWWW

(1) Tarai - - ' (2) Bhabar - (3) Bhangar (4) Khadar

N e fosmger: . |

(a) aﬁaﬁawmﬁmmzsqmm%ﬂﬁm

(b)" Fere Aefer ST 1986 A9 ST TN R S (Radiation) FeTe Toera,
¢ (c) ﬁﬁﬁmﬁmﬁmﬂﬂﬂ@mwcmr} %Wmm@m

R IE s -

(1) Wﬁﬁm(a)aﬂmeﬂ%

(2) faum (a) anfor (b) R e

8) faum (a) anfin (c) IR 3.

(4) faum (a), (b) 27T (c) SRR STee.

Observe the fol_lowmg statements :
(a) - “Chernobyl nuclear power accident occured on 26 April 1986.
g (b) The Scientists from Sweden noticed increasing radiation in the surrounding environment in

1986,
(c) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

(1) Only Statement (a) is correct

) Statement (a) and (b) are correct

( ) Statement (a) and (C) are COI'I‘ECt

(4) Staternent (a), (b) and (c) are correct

W T / SPACE FOR ROUGH WORK P.T.0.
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71. S TS o AT A o sy Sed e
@) e () e e
(b) =TI (i) foed e
(¢)  gharst e i) e
(d)  SeTSTeR Hrorem (v) sifminfey

T SN

() @-(), (b)-(ii), (0)-(i), (d)-(iv)
(2)  (@)-(iid), (b)-(), (0)-(ii), (d)-(iv)
B)  (@)-(v), (b)-(id), (c)-(i), (d)-()
(4)  (@-(id), (b)-(iv), (c)-(i), (d)-()

Match the Physical quantities and the instruments used to measure it.

(@) Air Pressure (i)  Decibel meter
(b) Wind Speed (i) Seismo meter
(c) Intensity of Earthquake ~ (iii) Barometer
(d) Intensity of Sound - (iv) Anemometer

Answer options :

(1)  (@-@), (b)-(iid), (c)-(ii), (d)-(iv)
(2) (a)-(i), (b)-(1), (c)-(ii), (d)-(iv)
3)  (a)-(v), (b)-(iii), (c)-(ii), (d)-(i)
(4) (a)-(ii), (b)-(iv), (c)-(ii), (d)-(1)

72. @rciia foue fa=mmE =i | |
(a) <1 HIAHIET Sqad FriE (RI) WS ARATRAER See S, a9 wehe fafwin a.
(b) e Td-Are faferdiator wRom Ted, e faiq dreheel fafeRtiehtor TR .
Tt SV fadM ser o1e ?
(1) () 2 (a) ¥ () AR
(3) (b) wed (4) ScTieh! Il el
Consider the following statements. |
(a) Dispersion of light arises where the refractive index of a medium is frequency dependant

(b) All material media are dispersive; only vacuum is nondispersive.
Which of the statement given above is/are correct ?

(1) (a) only (2) (a) and (b) both
(3) (b) only (4) None of the above

;ﬁaﬂ HTHRITS! W / SPACE FOR ROUGH WORK
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Myopia is an eye defect known as ‘near-sightedness’, and is caused due to the reason that ...,
(1) the image of an object is formed infront of the retina and not on the retina.

(2) the image of an object is formed beyond the retina,

(

3) the image of an object is formed exactly on the retina,
(4) None of the above.

ﬁm%mnmmmﬁwmzswﬁmm@___m.
(1) 11 =L anftr 12 wets (2) 12 Wriq anftr 11 geri
() 11 wRAemfI =Ry (4) 12 T amfer 11 =ty

The atomic number of sodium is 11 and its mass number is 23, It has

(1) 11 neutrons and 12 protons (2) 12 protons and 11 electrons
(3) 11 electrons and 12 neutrons (4) 12 electrons and 11 neutrons

I s i i L

. CTRACTY VAT ST Yo B e ?
(1)  smfry (2) FR (3) e (4) TESNT TewrRs

~ Which of the following ga's does not cause pollution ?

W' Amicnle 2) Chlorine  (3) Nitrogen (4)  Hydrogen Sulphide
I R R - —
 TeiicTyeRt ShivreT &R YA YRR ST ?

(1) = (2) Yvarn He
 8) foriste of (4) oI de

Which of the fﬁllowing Salt is used in refining of Petrol ?

(1) Soap (2) Washing Soda

)  Bleaching Powder (4) Baking Soda
—— P.T.0.
N BITRTS) W SPACE FOR ROUGH WORK ‘
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77. AT VI ST WU et TErIiRe Jomet o ?

30

(1) s (2) Sferer (3) WEERIEHRET TaY
Animals of which phylum contains open circulatory system ?
(1)  Arthropoda (2) Annelida (3) Cyclostomata Pisces
78. IRl ST oo :

& WA WhR TR
(@) el SrEe WEE WIof i) oS
(b) SSUR W& wORt (i) Hehra™
() I THIA &I Hoft (iii) FHE
(d) T G W& wioit (iv) 99
Tt S9N ;
(1) (@-G), (b)-(iv), (c)-(i), (d)-(ii)
(2)  (@)-0), (b)-(iii), (c)-(ii), (d)-(iv)
(3) (@-(i), (b)-(iv), (c)-(ii), (d)-()
4)  (a)-(v), (b)-(iii), (c)-(i), (d)-(ii)
Match the following :

- Mammal type Example

(@) Pouched Mammal (i) Bradypus
(b) Flying Mammal | (ii) Macropus
(c) Toothless Mammal (iii) Manis
(d) Ant eater Mammal (iv) Pteropus

Answer options :

(1)  (@)-(), (b)-(v), (c)-(i), (d)-(ii1)
(2) (a)-@), (b)-(iii), (c)-(ii), (d)-(iv)
3) (@)-(ii), (b)-(iv), (c)-(ii), (d)-(3)
4) (@)-(iv), (b)-(iii), (c)-(), (d)-(ii)

=] BTETETS! SN / SPACE FOR ROUGH WORK
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118 .
g, <Al : 31
9. W 'q'[ m W :
(a) SI=ieq A
(1) ¥ (a)
3
'(I*tze t;:lﬁ T(i g; Y. ) W )
(a) Aristotlz nomy was coined by : e (d)
(c) A.P.de Cand (b) Linnaeu
Answer option:I: - (d) Platoae ;
(3) Only (c) (2) Only (a) and (b)
'0' (4) Only (d)
el S @ A e ge
(1) IH i " EIeehiAT A3 Tl 2
L (2) S o) fiF |
Khaira disease of rice is developed d ) (4) HiferaeTd
(1) Copper (2) S Ee ue to the deficiency of which micronutrient ?
3 odium (3) Zinc (4) Molyb;ienum
1, AT TR A SETE Sl el
wﬁ e e
(a) IS G) 9EEsd
(b) ETEE (i) SIS
(c) T (i) AT
(d) CEICECIE (iv) FATqESHAE
ﬂ'ﬂ‘ﬁ"?ﬁa{ :
(1) (a)-@), ()-() (c)-(ii), (d)-(V)
2) (a)-() (b)-(iv), (€)-0)- (d)-(ii)
3) (@-(v) (b)-(ii), (c)-(iE)- (d)-()
(4) (a)-(iid), (b)-(i), (©)-(V)- (d)-(i1)
Match the correct example of plant group-
Plant Group Example
(a) Algae (i Cycas
(b) Bryophyte (ii) Lycopodium
P (o) pteridophyte (iii) Funaria
() Gymnosperm (iv) Chlamydomonas
Answer options : © il @)
N (a)-() -0 iii), (4)-4
Ezg ga)-(ii), (b)-(v), (©)-0) (d)-(i1)
3 (a-), OXE) (c)-(@). (A1)
G o o0 L2
rarard) o/ SPACE FOF ROUGH WORK 550
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82 meammwmwm
AT T HNh e
(1) Toiq offg e AT o
(2) TR e gferfEn Ay frdar

(3) TRl T o AR e
(4) SE A Ew Wﬁgmm

Identify the wrong pair of plant disease and i’s causal orgamsm

Plant disease Causal Organism

(1) Citrus canker
(2) Rust of Wheat

Xanthomonas citri

Puccinia graminis tritici
(3) Ergot of bajra

(4)

Cercospora Personata

Red rot of sugarcane Colletotrichum fulcatum

——

83.

wmmmwmmm?

() 3fEaT R g (b) sfem TSR q% |

€) TSRTET @ T

WAt T ,

(1) ™ (a) (2) " (a) el (b)
OB @ (a), (b) 3T (o
Which of the following agency do aerlal Photography Work in Indla ?
(a) Indian Air Force (b) Indian Air Survey

(c) NRSA (d) I.M.p

Answer options :

1) (@ only | i (2) (a) and (b) only
(3) All are. correct (4) (a), (b) and (c)

FTATATS! I/ SPACE FOR ROUGH WORK

£

(3 Scanned with OKEN Scanner



FIU ITY/ S T ST 37727 ?

(1) (@), (b), () =M (d) ) (a), (b) = ()

(3) (a) 3T (b) (4) (a) @ (c) -
following function.

Vertical aerial photography is used in cartography. It is used for the
(a) Photogrammetric surveys

() Film making

(c) Preparation of Topographical maps

(d) Power line Inspections.
Which is/are correct answer ?
(1) (), (b}, (c) and (d)

(3) (a)and (b)

5 ﬁwaﬂﬁmﬁémﬁﬁmﬂmﬁﬁfﬂﬁmﬂwmmmm?
(1) e (2 T ), T (4) FA
Which colour is used for reading false color composite aerial photographs of healthy plants ?
(I) White (2) Pink (3) Red (4) Black
5, S Sty T8 ol (S AT ST B ST IV Sl 3 2
(1) amfe (2) T (3) M (4) W
To which country the GLONASS satellite in the Global Navigation Satellite System (GNSS)
ou
belongs ? | |
(1) imerica (2) Russia (3) China (4) India
s Wﬁsh@ﬁ?ﬁa' mwﬂ'-mﬁr@a@m@mﬂﬁmmﬁm?
1) fomdea (T ) (2) mgﬁfﬁ(m@ﬁw)
) g (4) e
E Inte nication, the Jata communication between 2 devices can be )
| (1) n;ls Oflthe data OOV (2) Half Duplex
| (3 Sy (4) All of the above
. ) Full Duplex
P— il -
P.T.O.
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H18 o3
o5, festiee S St o gfren wreer clep fee @ SR T SR S fpe
G 3. T B
1) e TRA e fawiy (2) -{g‘qaﬁﬂﬁ?ﬂfﬂ'@q -
(3) Ydte smuHe faediy (4) fed sragie faem
The following tool was developed under Digital India to collect feedback of €-ServVices . .
government rapidly. The interface is known as _ ' prQVid&
(1) Real time Assessment System (2) Random Assessment System |
(3) Rapid Assessment System (4) Reserve Assessment System
89. AR HIET 1 ST T S el W% I \
(1) TosE9vH (2) emyfeR WO
3) TaaRa Swom (4) D I AR
Mobile computing environment can also be considered as the type of
(1) Grid computing (2) Modern computing
(3) Distributed computing (4) None of the above

90. WIcileidet aﬂa@é‘fg@a élwéwmaiamé’rwﬁ -
(1) A TR 2) dfEFTR  (3) Eor o (4) T T
Identify among the following which is mainly used for host Web51te -
(1) Mail Server (2) Logical Server (3) WebServer = (4) None of the abore

91. YTy glauren fawrmEEt gun yHom = WW HIHRA Eeile] Hehed =
eI,
(1) SESIS SR SUshAi FIdeaveheon
(2) wRaTd S '
(3) WSt @St AR AT
(4) T TR

In order to manage adequate amount of funds for infrastructure development the gOVem“
evolved the idea of :

(1) Disinvestment of Public Sector enterprises
(2) Make in India

(3) Public Private Partnership model

(4) Smart cities

o] PTHTATS! ST / SPACE FOR ROUGH WORK
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92. @Iﬁaﬁﬂﬁfﬂmw;

118

Consider the following Statements ;

() When People subscribe to

o
government loans, the propensity to consume is curbed.
(b) Dueto Public debt the rjc |

-(2) . Only (a) is correct.
(4)  None of the above

93, mﬁmﬁfﬂmﬁaaﬁaﬂaﬁm/mﬁ

(2) WIH T o (UNDP)
AT IS e,

(b) A fosm v @1 gaery iy = ;
(c) WWWWWWWWMW%,
(d) Wﬁmﬁﬁmiﬂ%ﬁwm@w@mm_ TR

o/ TS5 SRYsR a7/ 2
1990 AT S TR RS ﬁm ﬁéqna;m

= e ———

Tt I6Y
L De0 0 e60 o ang 6o, o
Which of the following statement/s is/are correct re i

(@) The United Nations Development Program (
Development Index in its report from 1990,

~+ (b) The Credit of the concept Human Develg

pment Index goeg 4 Lor
Prof. Amartya Sen.

(c) Five factors related to Human Development are included ip

(d) The value of Human Development Index is always betweq 2210 ang evelopment Indey
_ * ne, ‘
Answer options :
(1) (), (). (@) (2) (@) ®) (o) 3) @) ), (q) @ @
.\-‘-‘_— . ’

©), (q) |

mmma ST / SPACE FOR ROUGH WORK \ *
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94. TR oA Froes e et s e o FFs e S
(1) R PR oo e - fear e i 3. T
@) ST - e e il
(3) i el s + TR fiede Tew S

4) Tosoi + GeTm s

Which of the following statement with regards to Net Value Added Method at Market Py,
(NVA) MP is correct ?

(1) Gross Value added at Market Pnce Consumphon of fixed Cap1ta1 i depremahon

(2) Value of output mtermedlate consumptlon

(3) Net Domestic Product + Net factor mcome from abroad

(4) Sales + Change in stocks .

95. T SIS S Heid qeia faiiq v faur e,
(a) WWWWWWWM
(b) ﬁm—&qﬁaﬁﬁiﬁmﬁri‘maﬁamﬁ%ﬁ |
(c) wmmawmﬁmmmwwwﬂ
Tt SO
(1) K () (2) K (a), (b) (3) HH (c) (4) e (b) (©)

the incorrect statement/s about Indian agricultural productnnty

Find
(a) Agricu.ltural producnmty has increased rapidly in the early Post : indeﬁéndence periO i

(b) gricultural productivity growth has been equal across the éounuy

al productivity in India is stﬂl very 1
(c) Cog::;ﬁ“; P tY ry low compared to other developed and deveIOPmb

Answer OpHOns :

nls " (2) Only(a), () (3)
(1) . Only (2) Only (c) @ Ony@),©
ey TS ST / SPACE FOR ROUGH WORK e
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96. UG ATHeq Heula T faumRE are faum e :
(@) 1980 WL 9. UH. =N FHt fHUTI Yo WX e
(b) WWWW@WWWMWW%WW

| Feft e
(c) 1998 el SHEeE YU Srefenearal giteehi weprLc
. iR sEC
(1) () ®) (2) W (b) (3) T (c) ) () ()

Find the correct statement about zero budgeting :

(a) First introduced in the U.S. department of agricul
' e seventh plan as one o

ture in 1980.

f the steps to control

(b) Zero budgeting has been recommended by th
public expenditure.

(c) Central government adopted zero budgeting approach in 1998.

Answer options : |
(1) (). ®) (2) Only (b) 4 @ ©

97,

(1) e (a)r (C) (2) e (b) (3) Thd (C) (4) Thad (EI), (b)
Select the correct pairs of the following.
ve costs - Adam Smith

(theories of international trade) :

(a) The doctrine of comparati
(b) Factor proportion theorem - Heckscher Ohlin

(c) The law of absolute cost advantages - Ricardo

Answer options :
1) only@ © @ Only (b) (3) Only (c) (4) Only (a), (b)
reca prATATS) ST / SPACE FOR ROUGH WORK PTO.
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98. WRAI "

VISR Weifid ETerien ata faer/ o/ ?

() AT G 1837 Hel 2uTel YA GEw el

(a) aqifor (C) (3 )

1 (@) (2)

tement/s regarding €

Which of the following sta

Postal Service was started in India in the year 1837.

()

(c) Establishment of Speci
equipment manufacturing country was a

Plan.

(d) In1872, Alexander Graham Bell developed the telephone technique.

Answer options :

(1) (a)and (b) (2) (a)and(c) (3) (a) and (d) 4 (b aﬂa (d)

=] HATITS! &R / SPACE FOR ROUGH WORK
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99, HeHRI & & wikerr wewidter wfidt o o Fisa 4y e wr.
|t CL]
(a) Tad wAYE o7 ffihesk . (i) 1895
(b) W1 9 (i) 1915
(c) e feieE (i) 1928
(d) HererT WA (iv) 1964
gt I - 3onn,

1) (@), -G, (©)-Gii), (d)-Gv)
2)  (@)-Gii), (b)), (©)-(iv), (d)-Gi)
@) (@)-(ii), (b)-Giv), (©)-60), (d)-(ii)
@) (@)-v), (b)), (©)-(ii), (d)-Gi

Match committee and year in co-operative education and training context.

Committee Year
(a) Royal Commission on Agriculture (i) 1895
(b) Prof. Karve Committee (i) 1915
(c) - Frederick Nicholson (i) 1928
(d) Maclagan Committee (iv) 1964
Answer options :
1) (a)-(), (b)-(i), (c)-(d), (d)-(V)
(2) (@)-(i), (B)-), (©)-(Ev), (d)-()
(3) (a)-(i), (b)-(v), (©)-), (d)-(D)
@) (@), (b)-0) (0)-Ci), (- .
100 2021-nmﬁm$mﬁaamwnmﬁﬂ gt
E (a) WH (b) ETEET A
() %E wara 9 (d) ol = Arerw!
ugidt I ;
1) @ame @ @I O @3 (d) . (4) (o) (D)
During 2021 - 22 the Net Foreign Exchange Assets with RBI consist of ___ .
(a) Gold (b) Rupee coins
(c) Central Government Securities (d) Foreign Currency Assets
" Answer options :
5 (1) (a)and (b) (2) (a)and () (3) (a)and (d) (4) (c) and (d)
| -000-

. ey pATAETS! Wi / SPACE FOR ROUGH WORK
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FHHTG Th JurA1 FHrarare v/ féhen T w9 wien deren e uE ke R
9) Wmmwwwmﬁwémm'mﬁmm '
AT $TE. W IR ST oyt Sheamry " C %W
- N oA SMUTAT AR W 11111'&&4'65:3%:,%%
i -
1T U9H
T. . 201 mﬁmwmmw.mﬁ,
3 @) o
@WWW“mwmﬁﬁq"
. . 3‘-{'&31]%‘ Wmmm 8¢ 4o 99 :
SR . ZOIH%W-W"(@"%QFW i iy (3) %W s
nF 201 @) () ® o STl & STEvTE e
T T SR YR S ST Qe S -
ﬂﬂlwmmﬁa‘éﬁmﬁaﬁa Y & TR SetsRien s -
) Wr%mmhmﬁwmmw mﬁmqﬁﬁmm

(3 scanned with OKEN Scanner



